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CH3COO   +  H+    CH3COOH a =   CH3COO [H+][CH3COOH]

[H+] = Ka  ([CH3COOH]/[CH3COO-])  10 [H+] [H+] = Ka  ([CH3COOH]/10)/([CH3COO-]/10)               = Ka  [CH3COOH]/[CH3COO-] 

pH = log H = log CH3COOHCH3COO a  
                      = log 0.040 + 0.0100.060 0.010 a  

= log 3.0 x 10 = 5 log3.0 = 4.52
        



NaOH

Na2CO3 10H2O

0.020
2H2O  + 2e 2OH + H2
2Cl Cl2 + 2e

2 mol 1 mol

(4.0 A) (965 sec) (96500 C mol 1) = 0.040 mol

0.040 2 = 0.020 mol      

Fe3O4-1-2

O2  
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2H2O2 2O  +  O2
2

O2
10 g (3.0/100) (34.0 g mol 1) (1/2) 22.4 L mol 1 

= 0.09882… 0.099 L

3Cu  +  8HNO3 3)2 +  4H2O  +  2NO 
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